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QUESTION 1

An SRDF/S implementation is being designed. The RA performance limits are 3800 4k IOPS for a Fibre RF adapter.
The application is doing 6000 4k IOPS with 30% writes and uses multiple volumes. How many RAs are recommended? 

A. 2 

B. 1 

C. 4 

D. 6 

Correct Answer: A 

 

QUESTION 2

You are designing the Symmetrix VMAX architecture for a DAS-to-SAN SQL Server migration. Currently all user
databases reside on a single locally-attached disk enclosure, mounted to "M:\". You have decided on RAID-1 protected
15,000 RPM drives for the new SQL environment. 

Last week, you configured Perfmon to record the current IOPS load as shown in the exhibit. Following EMC best
practices, what is the minimum number of spindles required to satisfy the performance needs of the database? 

A. 9 

B. 10 

C. 18 

D. 20 

Correct Answer: C 

 

QUESTION 3

What is the Write Load Adjustment Factor recommended by Performance Engineering when modeling an SRDF/A
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solution with BCSD? 

A. 1.5 

B. 2 

C. 3 

D. None 

Correct Answer: A 

 

QUESTION 4

Which condition results in effective prioritization by Symmetrix Priority Controls (SPC)? 

A. Application classes are isolated on different disks/tiers. 

B. Different application classes share the same physical disks. 

C. Applications share the same physical disks and have different IO profiles. 

D. Applications share the same physical disks and are active at different times, 

Correct Answer: B 

 

QUESTION 5

What is the size of a fibre channel frame? 

A. 2112 bytes 

B. 1500 bytes 

C. 9000 bytes 

D. 2148 bytes 

Correct Answer: D 
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